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Two?! - %NAn

Overview

R "X 127X M taught two laws; T can only be performed by an adult, and 7
can only be with the consent of the one who 1s 79> her. The X723 asked "nan'. Our
nvoIN cites two interpretations of the question “nAn'.
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>""w1 explained that these two laws are dependent on each other; meaning that

both laws are one thing, not two laws, so why mention both laws when one would be

sufficient?! *"w" continues to explain how the two laws are interdependent -
- 159133 NYN 9399 NP9 PRT ROV NPT RIN HYS PRY 11997

For since 71¥° can be only with the consent of the 7v»» (the second law), it is
obvious that 712" is only effective by a 173, but not by a jup -

- 2wrDh MIYY HNYY K8 XY Yo PNy
For a minor (son) cannot make (his father) for a m°%2 to be @w7pn (the mnx).

mooIn offers an alternate explanation of "nan":
= 11N JINDT 912199 2NN WD PNIN 13939 2979

And 111798 2'';7 explained '>nan' to mean that these two laws contradict each other -
- 553010 *NY1n RO 199X YN SITI NIN TP PPN 199NT XUIT

For in the beginning (the first law) we say, ‘7> can only be by a »173’;

indicating that if the 7v>n is a 117x it is effective even if it is ny7n X5 -
$99M19 RY NYTN NOY DAN ¥IUN NPT NON TP PN 1999N 9779

And later we say (in the second ruling) np7» XX 7I9° 1X; indicating, however if
it is nyT™ XYW it is not effective, contradicting the implication of the first law.

" 1w can be performed either by the master directly or he can be 79™» her to his son (obviously with his son’s
consent). It is a forgone conclusion that the master is an adult (otherwise how can he ‘acquire’ an 1nX); however
perhaps the master can be 7v>°1 her to his son even when he is a jop.

% This line (w7p9..."Aw) is not found in our text of >"wA [it appears to be '0n explaining *"wA].

> When the father is 79" the X to his son ny7» it is with either the implicit or explicit agreement of the son to
appoint his father as a %W to be 7y the 7R for him. However a minor son cannot appoint a m°2w, so how can the
father be 7y the X to his Ny JvP 112, when he has no power to be w7pn her to his son since he was not appointed
a m>w. If there is no requirement of Ny (we do not need the consent of the Jvp) then the father can be 791 her to
his JvP 12 on his own, without becoming a °?w, but since we require n¥7 how can he be 7v>>» her to Jvp 12.

*If ny7 is required then they should have merely said one rule that Ny XX 719" X and we would know that T X
21732 XOXR (as *"wA explained it). 1098 1" seems to have accepted s""w logic, however he assumed that the s'823
question is not the way >"1 explained it. See ‘Thinking it over’ # 1.

> The father can be 7y>» the 7nX to his 9173 132 without his (explicit) consent. See ‘Thinking it over’ # 2.
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Summary
NN’ can either mean it is a duplicity for since ny77 is required it must be only by a

7173, or it is contradictory, for one law implies that n¥7» is not necessary, while the
other states it 1s mandatory.

Thinking it over
1. Why do *"w1 and 11198 1" assume their interpretation instead of the other’s?

2. How is it possible even to assume’ that the father can be 7y™n the 7nX to his
adult son without his consent?!’

® See footnote # 5.
7 See ayn MK 7717 an N°a.
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